C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 61,300+ 20,177 =

< @ @ @ @ @ > 2
2) 39,912 + 19,564 = 3
4,

< @ @ @ @ @ @ >

3 93,374+ 3,752 =

< @ @ @ @ @ > 7
4) 60,777 + 24,104 = 8.
< @ @ @ @ @ >

5) 89,005+ 1,573 =

< ® @ ® @ ® >

6) 60,286 + 17,392 =

< ® @ L ® L *—>»

7) 52,219 + 16,987 =

< ® @ L ® L *—)>

8) 61,275 + 33,467 =

< ® @ L ® L *—>
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 61,300+ 20,177 =

1. 81477

61,300 81,300 81,400 81,470 81,477

e — @& o o o » 59,476

+20,000 +100 +70 +7
2) 39,912+ 19,564 = 3 97,126
39,912 49912 58912 59412 59472 59476 4 84,881
< o —— @& —— o6 — 66— 06
+10,000 +9,000  +500 +60 +4 s 90578
3) 93,374+ 3,752 =
6. 77,678

93,374 96,374 97,074 97,124 97,126

< .\_/.\M/ > . 69,206

+3,000 +700 +50 +2
4) 60,777 + 24,104 = g 94,742

60,777 80,777 84,777 84,877 84,881
D S S
+20,000 +4,000 +100 +4

5) 89,005+ 1,573 =

89,005 90,005 90,505 90,575 90,578
«——e— o 9o o 0o

+1,000 +500 +70 +3
6) 60,286 + 17,392 =

60,286 70,286 77286 /7,586 7/,6/6 77,678
“——e— @& @ o o 0 )
+10,000 +7,000  +300 +90 +2

7) 52,219 + 16,987 =

52,219 62,219 68,219 69,119 69,199 69,206
+10,000 +6,000 +900 +80 +7

8) 61,275+ 33,467 =

61,275 91,275 94,275 94,6/5 94,735 94,742
—e—— 9o @ @ o 0o

+30,000 +3,000 +400 +60 +7
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